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※  (1) (A)(B)(C)(D)

 

 (2)  

28 2.5 70  

1. 95% 1%

1.5% 90%  

(A)90% (B)95% (C)100% (D)200% 

2. 4000 50 (Naive Hedge)

50 4000 50  

(A)10   (B)20   

(C)50   (D)100  

3. 

I. II. III.  

(A)I  

(B)I II  

(C)I III  

(D)II III 

4. I.

II. III.  

(A) I II   

(B) II III   

(C) I III   

(D) I II III  

5. 5% 4%

 

(A)   

(B)   

(C)   

(D)  

6. I. II.

III.  

(A) I   

(B) III   

(C) I II   

(D) II III  

7. I. II. III.

IV.  

(A)I  

(B)II IV  

(C)I II III  

(D)I II III IV 

 

 



8. I. II.

III.

 

(A)I II  

(B)I III  

(C)II III  

(D)I II III 

9. I. II.

III.  

(A) I II  

(B) II III  

(C) I III  

(D) II 

10. (APT)  

(A) APT

(Factor Risk)  

(B)APT  

(C) APT CAPM APT  

(D)APT  

11. B S 10% 17%

12% 25% ρ 0.5  

(A)9.91% (B)10% (C)12.5% (D)17% 

12. 

 

(A)     

(B)    

(C) Call    

(D) Put 

13.  

(A) 5 5   

(B)   

(C)MACD 0   

(D)5 5%  

14.   

(A)RSI 90%     

(B)   

(C) -6%    

(D)KD K D 20%  

15. 

 

(A)5 10%  (B)10 8%  

(C)5  8%  (D)10 10% 

 



16. 8200 call $86 8100 put $35

 

(A)8014~8235   

(B)8065~8286   

(C)7979~8321   

(D)8059~8241  

17. 25% 20% 0.9   

(A)0.9     

(B)1.125   

(C)1     

(D)0.72 

18. 40 4 35

5%  

(A)8.02    

(B)5    

(C)13.02    

(D)9   

19. n 1100 80

1086  

(A)4%  

(B)5%   

(C)6%   

(D)7% 

20.  

(A)    

(B)    

(C)    

(D)  

21.  

(A)    

(B)   

(C)   

(D)  

22.  

(A)    

(B)   

(C)    

(D)  

23. ( ) 1.5 12% 6% CAPM

 

(A)6%    

(B)12%    

(C)15%    

(D)16.5%  

 

 



24. 12% 4% 4% (  ) 2  

(A)2   (B) 3   (C)6   (D)8 

25.  

(A) call   

(B) call call   

(C) put put   

(D) put put 

26. ETF  

(A)    

(B)    

(C)    

(D)  

27.   

(A)    

(B)M1B    

(C)    

(D)  

28. . . .

 

(A)    

(B)    

(C)    

(D)  

 

1. A

3% 5%

10% 20% A B 10% 15%

 

 

2. C(K) K P(K) K

C(60)=12 C(50)=21 P(60)=18 P(50)=10

 

 

3. 

CPPI(Constant Proportion Portfolio Insurance) (Synthetic 
Put Option SPO)
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104 1  
    

※  (1) (A)(B)(C)(D)

 

 (2)  

35 2 70  

1.  

(A)1996 (B)1997 (C)1998 (D)1999 

2.  

(A)  (B)  

(C)  (D)  

3.  

(A)   (B)  

(C)   (D)  

4.  

(A)  (B)  

(C)  (D)  

5.  

(A)   (B)  

(C)  (D)  

6.  

(A)  (B)  (C)  (D)  

7.  

(A)   (B)   

(C)   (D)  

8.  

(A)  (B)  

(C)  (D)  

9. 10% 26% 5%

19%  

(A)  (B) 1.1% 

(C) 1.12% (D) 0.1% 

10. (Lorenz Curve)  

(A)  (B)  

(C)  (D)  

11. (Official Reserve Account)  

(A)  (B)  

(C)  (D) (A)(B)(C)  

 



12. ________

________  

(A)  (B)  (C)  (D)  

13. 12% 1,000 9% (

)  

(A)$921.89 (B)$926.27 (C)$950.85 (D)$930.74 

14. 1.35/1 400  

(A)$540.00 (B)$592.6 (C)$296.3 (D)$270.00 

15. 103 12 12

 

(A)              (B)              (C)  (D)  

16. ( ) 500 300

100  

(A)             (B)    

(C)   (D)  

17.  

(A)                         (B)                  

(C)                (D)  

18. 2000 1000 1500

 

(A)  

(B) 2000  

(C) 2000  

(D)  

19. (AD)  

(A)    

(B)  

(C)   

(D)  

20. (Demand Pull)  

(A)   

(B)  

(C)   

(D)  

21.  

(A)   (B)   

(C)   (D)  

22.  

(A)             (B)    

(C)     (D)  

 



23. 

 

(A)                

(B)  

(C)               

(D)  

24.  

(A) ( …)   

(B) ( …)               

(C)               

(D)  

25. QE  

(A)   

(B)  

(C)   

(D)  

26. 

 

(A)  

(B)  

(C)  

(D)  

27. 

 

(A)  

(B)  

(C)  

(D)  

28.  

(A) (NI) GDP 

(B) (NI) GDP 

(C) (NI) GDP 

(D) (NI) GDP 

29. (Term Structure of Interest Rates)

 

(A)  (B)   (C)   (D)  

30.   

(A)  (B)    (C)  (D)  

 



31. 2.5 100  

(A) 150         (B) 250 (C) 100 (D)  

32. (R) (r)  

(A) 0  

(B) 0 0  

(C) 0 0 

(D) 0 

33.  

(A)  

(B)  

(C)GDP  

(D)  

34.  

(A)   

(B)   

(C)   

(D)  

35. 5% 3%

 

(A) 3%                     

(B) 5%  

(C) 5%  

(D) 3%  

 

3  30  

1.  C( ) a 0.5Yd  I( ) 200 G( )

300 T( ) 100 Yd( ) Y T : 

(1) ( ) (7 ) 

(2) (G) (T) 50 (7 ) 

 

2. IS LM ( )  

(1) ( ) (4 ) 

(2) ( ) (4 ) 

 

3. QE (Twist Operation)
(8 ) 

 


